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bl iqfLrdk ij dqN Hkh fy[kus ls igysbl iqfLrdk ij dqN Hkh fy[kus ls igys
fuEufyf[kr funsZ'k /;kuiwoZd i<+safuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1-1- viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä 
ç”uksa dh la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ ç”uksa dh la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ 
deh gks rks i;Zos{kd dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks deh gks rks i;Zos{kd dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks 
lgh fo|k'kk[kk iqfLrdk feyh gSAlgh fo|k'kk[kk iqfLrdk feyh gSA 

2-2- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- (OMR) la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V  la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V 
isu ls HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,Aisu ls HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,A 

3-3- ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad  ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (A)(A) lsls (D)(D) rd pkj çLrkfor mÙkj fn;s gSaA  rd pkj çLrkfor mÙkj fn;s gSaA 
vkids fopkj esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u vkids fopkj esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u 
yxk,A yxk,A 

4-4- lHkh ç”u vfuok;Z gSaA lHkh ç”u vfuok;Z gSaA 

5-5- mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6-6- mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk 
dks [kjkc djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ dks [kjkc djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ 
ij gksxhAij gksxhA 

7-7- jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA

8-8- gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA 
mÙkj esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k mÙkj esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k 
esa fdlh Hkh fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA esa fdlh Hkh fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 

9-9- dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh  dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh 
vkfn dk ç;ksx ijh{kk d{k esa oftZr gSA vkfn dk ç;ksx ijh{kk d{k esa oftZr gSA 

10-10- ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls 
ckgj ys tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSAckgj ys tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSA

11-11- 11-11- iz'u i= esa fodYiiz'u i= esa fodYi ^d*] ^[k*] ^x*] ^?k* ds LFkku ij^d*] ^[k*] ^x*] ^?k* ds LFkku ij OMR Sheet esa ^d*esa ^d* ds fy,ds fy, 1, ^[k*^[k* ds fy,ds fy, 2, ^x* ds fy, ^x* ds fy, 3 
rFkkrFkk ^?k*^?k* ds fy,ds fy, 4 fodYi okyk gh xksyk dkyk djssaAokyk gh xksyk dkyk djssaA

READ THE FOLLOWING INSTRUCTIONS CAREFULLY 
BEFORE WRITING ANYTHING ON THIS BOOKLET

1. Before commencing to answer, check that the Question Booklet has all the above mentioned number of questions 
and there is no misprinting, overprinting and/or any other shortcoming in it. If there is any shortcoming, intimate 

the same to your room invigilator and have it changed. Before answering you must ensure that you have got correct 

post code/discipline booklet. No complaint in this regard shall be entertained at a later stage. 

2. Write with Ball Point Pen Your Name, Roll No. on this page (above); and use Ball Point Pen for filling boxes of 

the Answer Sheet in the space provided and sign on the OMR Answer Sheet by Ball Point Pen and use Blue/Black 
Ball Point Pen to darken the ovals. 

3. This is an objective type test in which each objective question is followed by four responses serial led (A) to (D). 

Your task is to choose the correct/best response and mark your response in the OMR Answer Sheet and NOT in the 

Question Booklet. 

4. All questions are compulsory. 

5. DO NOT scribble or do rough work or make any stray marks on the Answer Sheet. DO NOT wrinkle or fold 
or staple it. 

6. Answer sheet will be processed by Electronic means. Hence, invalidation of answer sheet resulting due to folding 

or putting stray marks on it or any damage to the answer sheet as well as incomplete/incorrect filling of the answer 

sheet will be the sole responsibility of the candidate. 

7. Rough Work is to be done in any blank space in the booklet. No other paper will be allowed/provided. 

8. Take care that you mark only one answer for each question. If more than one answer is given by you for any 

question, the same will not be evaluated. Cutting/overwriting the answers are not allowed. Further question 
paper is bilingual (Hindi/English). In case of any variation in Hindi version, English version will be taken as 
final for evaluation purposes. 

9. Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference 

material is NOT allowed inside the examination hall. 

10. Return OMR Answer Sheet to the invigilator on completion of the test. Do not take OMR Answer Sheet outside the 

examination room. Doing so is a punishable offence. 

11. In case of questions options start from A,B,C,D then darken the circle 1 for A, 2 for B, 3 for C, 4 for D. 
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Q.No. 1. Dividing 64 by 0.008 will result:  
 64 0.008 ? 
 a) 800  b)    80               
 c) 8000                 d)  8.8 
 
Q.No. 2. If 30 men working 7 hours a day can do a piece of work in 18 days, in how many days will 21 

men working 8 hours a day do the same work?
 30  7 ,  18 ,  21  8 

? 
 a) 22.5 days/   b)  22 days/    
 c) 23 days/   d)  24 days/ . 
 
Q.No. 3. One year ago the ratio between the age of Sameer and Ashok was 4:3. One year hence the ratio of 

their ages will be 5:4. What is the sum of their present ages in years?
 4:3 .  5:4 .

?  
 a)  18  b) 20   
 c)  14  d) 16 
 
Q.No. 4. If x=9, y= 17, the value of (x2 y2) 1/3 is equal to:

x=9, y= 17, (x2 y2) 1/3 ? 
a) ¼  b) 1/6 
c) 1/8  d) 1/3  
  

Q.No. 5. The population of a town is 8000. It increases by 10% during the first year and by 20% during the 
second year. What is the population after 2 years?

 8000 .  10%  20% . 2 

? 
a) 10,000  b)  10560   
c)  10540  d)  none./
 

Q.No. 6. A machine is sold for Rs.5060 at a gain of 10%. What would have been the gain or loss percent if it 
had been sold for Rs.4370?
10% .5060 . .4370 ?  
a) Loss/  10%    b) gain/  5%     
b) Loss/  5%      d) gain/  6%   

 
Q.No. 7.  Which are the two numbers between 100 and 200 of which HCF is 48:

100  200  48 ? 
a)  148, 192  b)  144, 198 
c)  192, 198  d)  144, 192 

 
Q.No. 8. Find the least number which when divided by 128 and 96 will leave in each case the same 

remainder 5.
 128  96  5 ? 

a) 389  b) 384   
c) 284  d) 385 
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Q.No. 9. A man travelled a distance of 80 KM in 7 hours partly on foot @8 KM per hour and partly on 
bicycle @16 KM per hour. Find the distance travelled on foot.

 7 @8 . . . @16 . . .  80 . .

. ?  
a) 30  b)  42   
c) 34  d)  32 
 

Q.No. 10. An amount of money grows upto Rs.4840 in 2 years and upto Rs.5324 in 3 years on compound 
interest. What is the rate of interest percent?

 2 .4840  3 .5324 . ? 
a) 10%  b) 5%   
c) 12%  d) 20% 
 

Q.No. 11. A train running at 25 KM per hour takes 18 seconds to pass a platform. Next, it takes 12 seconds 
to pass a man walking at 5 KM per hour in the opposite direction. Find the length of the train and 
that of the platform in meters.

 25 . . .  18 . 5 . . .

 12 .

? 
a) 125, 30  b) 130, 25  
c)  100, 25  d)  125, 25 
 

Q.No. 12. A number in the series is suppressed by letter ‘A’. Find out the number in the place of ‘A’ and use 
this number to find the value in the place of question mark in the equation following the series.

‘A’ .

. 
 4 7  12  19  28  A  52 
 A2 – 4 = ? 
 

a) 1365  b) 1505 
c) 1517  d) 1435 

 
Q.No. 13. What would be area of a right angled triangle whose sides are 3 cm, 4 cm, and 5 cm.?

 3 . ., 4 . .  5 . . ? 
a) 6 sq.cm/ . .  b)  10 sq. cm/ . .   
c)  7.5 sq. cm/ . .  d)  12 sq. cm/ . .

 
Q.No. 14. The average weight of 8 persons is increased by 2.5 kg when one of them who weighs 56 is 

replaced by new man. The weight of new man is?
8  2.5 . .  56 . .

. ? 
 a) 78 kg./ . .  b)  74 kg./ . .  
 c) 76 kg./ . .  d)  none of these./ .

 
Q.No. 15. A rectangular garden 100 meter long and 80 meter broad has two straight path, each 4 meter wide 

running through the middle of its two sides to the middle of the opposite two sides. Find the area 
of the path.  100  80 

 4 . . 
a) 704 sq.m/ .  b) 720sq.m/ .   
c)  800sq.m/ .   d)  none of these./
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Q.No. 16. Find the area of the largest circle that can be drawn in a square of side 14 cm.  

14 . 
a) 256 cm2/ . . b) 254cm 2 / . .

c) 154 cm2/ . .  d) 156cm 2/ . .

 
Q.No. 17.  How many numbers upto 200 are divisible by 4 and 3 together?

3  4  200 ? 
a) 19  b) 20   
c) 14  d) 16 
 

Q.No. 18.  The salary of  worker is first increased by 10% and thereafter it was reduced by 10%. What was 
the change in his salary?

 10% ,  10% . ? 
a) Increase/  1%  b) decrease/  1%  
c)  no change/ .  d)  increase/  0.5% 
 

Q.No. 19. If 9 horses and 7 cows cost Rs. 770, and 5 horses and 9 cows cost Rs.530, what is the price of a 
cow?

 9  7  770  5  9  530 

? 
a) Rs./ .30  b) Rs./ .25  
c) Rs./ . 20  d)  Rs./ .15.  
 

Q.No. 20.  What would be half yearly dividend on Rs.3500, 4% stock?
.3500  4% - ?  

a) Rs./ . 70  b)  Rs./ .140   
c) Rs./ .35  d)  none./ .

 
Q.No. 21. A man can row 6 km per hour in still water. It takes him twice as long to row up as to row down 

the river. Find the rate of the stream (km per hour).  
 6 . . .

.  ( . . ). 
a) 2   b)  3   
c) 6  d)  8  
 

Q.No. 22. The double and fourth part of a number, added together, gives 71/2 as  result. What is the 
number?

7½  . ?.  
a) 10/5  b) 20/3   
c) 10/4  d) 10/3 
 

Q.No. 23.  How many whole cakes would be wanted for 100 children if each has a third of a cake?
 100  1/3 . 

a) 33  b)  34 
c) 35  d)  32 
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Q.No. 96. Pulitzer Prize is associated with : 

? 
a) Environment/       b)   Journalism/  
c) Sport/ d) Cinema/

 
Q.No. 97. The Khalsa Panth was founded by:

? 
a)  Guru Nanak Dev/    b) Guru Teg Bahadur/    
c)  Guru Hargovind/     d) Guru Govind Singh/

 
Q.No. 98. The term ‘Derby’ is related with which of the following?

? 
a) Polo/        b) Horse Racing/       
c) Swimming/   d) Chess/  
 

Q.No. 99.  Which part of an eye is transplanted ?
? 

a) Cornea/       b) Retina/      
c) Iris/   d) Sclera/  
 

Q.No. 100. Devaluation of currency helps to promote :
? 

a) National Income/    b)  Savings/

c)  Imports at lower cost/ d)  Exports/  
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Q.No. 85. Which of the following refers to the memory in the computer:
? 

 a) RAM b) CPU  
 c) LAN d) USB 

 
Q.No. 86. Microsoft Office is __?

 ... ? 
a) Shareware b) Openware  
c) Software suite d) Operating System 

 
Q.No. 87. In a code, RAIL is written as 5796 and TAPE is written as 3748. How is PAIR written in that code?

 RAIL 5796  TAPE 3748 .  PAIR ? 
a) 4795 b) 4785  
c) 3795 d) 8795 
 

Q.No. 88. DMA stands for __? DMA ? 
a) Direct Memory Access b) Distinct Memory Access  
c) Direct Module Access d) Direct Memory Allocation 
 

From the following, choose the word which is not synonym:
? 

Q.No. 89. a) Contrary,   b) Alike  
c) Opposite   d) Reverse 
 

Q.No. 90. a) Obscene b) Vulgar  
c) Filthy d) Diffident 
 

Q.No. 91. a) Abhore b) Detest  
c) Angry d) Hate 
 

Q.No. 92. a) Zeal b) Depressed  
c) Anguished d)  Sorry 
 

Q.No. 93. In a recent tournament, P.V.Sindhu lost Word Badminton Championship to:
. . ? 

a) Saina Nehwal/ b) CarolinaMarin/   
c) Chochuwong/  d) Yamaguchi/
 

Q.No. 94. During Maurya Period, ‘Sudarshan Lake’ was built in:
 .. . 

a) Bihar/  b) Madhya Pradesh/ .  
c) UP/ . d)  Gujrat/
 

Q.No. 95. Wooler Lake is situated in : ? 
a)  J&K ( - ) b)    HP/ .         
c)  Karnataka/  d)   Orissa/
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Q.No. 24. A and B enter into a partnership with their capital in the ratio 7:9. At the end of 8 months, A 

withdraws his capital. If they receive the profits in the ratio 8:9, find how long (months) B’s 
capital was used?
A  B  7:9 . 8  A .

 8:9  B ? 
a) 6  b) 8 

 c) 9  d) 7 
 
Q.No. 25. A can do a work in 25 days and B can do the same work in 20 days.  They work together for 5 

days and then A goes away. In how many days will B finish the work?
A  25  B  20 .  5 

 A . B ?

a) 11 days  b)  10 days   
c) 12 days  d)  9 days.  
 

Q.No. 26. There are 65 students in a classs. 39 Rupees are distributed among them so that each boy gets 80 
paise and each girl gets 30 paise. How many boys and girls are there in the class?

 65 . .39  80  30 .

? 
a)  39, 25  b)  34, 27  
c)  39, 26  d)  34, 28 
 

Q.No. 27. How often may 7/9 be subtracted from 7, so as to leave a remainder not less than 3?
7  7/9  3 ? 
a) 4 times/ .  b)  5 times/ .   
c) 6 times/ .  d)  none/ .

 
Q.No. 28. Find the greatest number that will divide 728 and 900, leaving the remainders 8 and 4 

respectively.
728 900  8  4 ? 

a) 13  b) 14   
c) 17  d) 16 
 

Q.No. 29.  The sum of two numbers is 14 and their difference is 10, whiat is the product of two numbers?
 14  10 ; ? 

a) 24  b) 22   
b) c. 25  d)  30 

 
Q.No. 30.  The ratio between a two digit number and the sum of the digits of that number is 4:1. If the digit 

in the units place is 3 more than the digit in the 10s place, what is the number?
 4:1 .  3 

, ? 
a) 25  b) 47 
c) 58  d) 36  
 

Q.No. 31. If  Sides of a square are increased by 10%, then its area will increase by what %?
 10% ? 

a) 10%  b) 20%  
c) 40%  d) 21% 
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Q.No. 32.  If the length of a rectangle decreases by 4% and breadth is increased by 6%, find the percentage 
change in area.

 4%  6% ? 
a) 2% increase/ .  b)  2.5% increase/ .   
c)  0.5% decrease/    d)  1.76% increase/

 
Q.No. 33.  If A’s salary is 25% more than that of B, then how much percent is B’s salary less than that of A?  

 A  B  25% ,  B  A ? 
a) 20%  b) 25% 

 c) 30%  d) 22.5% 
 

Q.No. 34.  A man sold a horse at a loss of 7%. Had he been able to sell it at a gain of 9% it would have 
fetched Rs. 64 more than it did. What was the cost price of horse?

 7% .  9% .64 .

? 
a) Rs.600 .  b) Rs.400 .  
c) Rs.500 .  d) Rs.450 .

 
Q.No. 35.  The tax on a commodity is diminished by 20% and its consumption increased by 15%.  Find the 

effect on revenue.
 20%  15% . ? 

a) Decrease 8%    b)  Increase 2%  
c) decrease 6%    d)  none/ .

 
Q.No. 36. Solve the equation: : 32x+1 – 3x = 3x+3 - 32 

a) 2,-1  b) -2, 1  
c) 2,1  d) 2,-2 
 

Q.No. 37. A certain number of tennis balls were purchased for Rs.450. Five more balls could have been 
purchased for the same amount if each ball was cheaper by Rs.15. Find the number of balls 
purchased.

.450 . .15  5 .

. 
a)  15  b) 20   
c)  10  d) 25 
 

Q.No. 38. What least number must be added to 8961 to make it exactly divisible by 84?
8961  84 ? 

a) 27  b)  25   
c) 37  d)  35 

 
Q.No. 39.  10 years ago, A was half of B in age. If the ratio of their present ages is 3:4, what will the total of 

their present ages?
10  A  B .  3:4 , ? 
a) 55  b) 35 

 c) 45  d) 50 
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Q.No. 74. UMANG app was launched for accessing which service? 
? 

a)  Govt. services/   b) ESI Services/

c) EPF Services / . .  d) Company services/

 
Q.No. 75. Kanha National Park is located in?

? 
a) UP/ . . b) MP/ . .  
c) Bihar/  d) Orissa/   

 
Q.No. 76. Choose the odd word out:

: 
a) Brinjal b) Potato  
c)    Tomato d) Gourd 
 

In the following questions, out of the given pairs choose one which does not bear the common relationship:
. 

Q.No. 77. a) dim-bright b) wrong-right 
c) Genuine-real d) shallow-deep 
 

Q.No. 78. a) Ice-Cold b) Iron-Hard  
c) Purse-Money d) Marble-Smooth 
 

Q.No. 79. a) Water-Thirst b) Talent-Education  
c) Food-Hunger d) Air-Suffocation. 
 

Q.No. 80. a) Lion-roar b) Snake-hiss  
c) Bees-hum d) Frog-jump 

 
Q.No. 81. a) Broad-wide b) Light-heavy 

c) Tiny-small d) big-large 
 
Q.No. 82. Goitre is caused due to deficiency of :

? 
a) Iodine/  b) Vitamin C/                

c) Blood/  d)   Iron/

 
Q.No. 83. In the following series, select the missing value from the alternatives: 

. 
 4, 7, 11, 16, …. 
 

a) 18  b) 20  
c) 22  d) 25 

 
Q.No. 84. In the following series, select the missing value from the alternatives:

: 
 1/81, 1/54, 1/36, 1/24, …… 
 a) 1/32, b) 1/9,  

c) 1/18 d) 1/16 
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Q.No. 65. Cauvery River dispute involves which states?

? 
a) Andhra, Karnataka, Tamilnadu/ , ,  
b) Andhra, Karnataka, Kerala/ , ,  
c) Kerala, Karnataka, Tamilnadu/ , ,  
d) Andhra, Kerala, Tamilnadu/ , ,

 
Q.No. 66. PirPanjal Range of hills is situated in which state?

? 
 a) Jammu & Kashmir/ -  b) Himachal Pradesh/ .  
 c)  Punjab/  d) Madhya Pradesh/ .

 
Q.No. 67. Kishanganga Project is situated in which state?

? 
a) Jammu & Kashmir/ -  b) Arunachal Pradesh/ ;

c) Uttarakhand/  d) Himachal Pradesh/ . 
 
Q.No. 68. Kakrapara Nuclear power project is located in.

? 
a) U.P/ . . b) Bihar/   
c) Gujrat/  d) Rajasthan/  
 

Q.No. 69. Rajiv Gandhi International Airport is in? ? 
a) Chennai/  b)  Hyderabad/ .  
c)  Bangalore/ . d) Mumbai/  
 

Q.No. 70. Maputo is the capital of which country? ? 
a) Ghana/  b) Mozambique/

c) Gambia/  d)  Namibia/

 
Q.No. 71. International Court of Justice is located in which city? 

? 
a) The Hague/  b)  Geneva/  
c)  Paris/  d) London/  
 

Q.No. 72. Phenomenon of aurora borealis is observed in which location? 
      ? 

a) Southern pole/  b)  Australia/   
c) Gobi desert/  d)  Northern Pole/

 
Q.No. 73. The composition Astadhyahi was composed by whom?

? 
a) Panini/  b)  Kalidas/   
c) Kautilya/  d)  Surdas/
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Q.No. 40. A positive number is divided by 5 instead of being multiplied by 5. What % is the result of the 

required correct value? 
 5  5 .

% ? 
a) 5%  b) 2500%   
c) 500%  d) 4% 
 

Q.No. 41. Rs.425 is divided among 4 men, 5 women and 6 boys such that the share of a man, a women and a 
boy may be in the ratio of 9:8:4. What is the share of a women?

.425  4 , 5  6  9:8:4 

. ? 
a) Rs.35 .  b) Rs.36 .

c) Rs.34 .  d) Rs.37 .

 
Q.No. 42. 12÷0.09 of 0.3×2= ? 

a) 888.88  b) 88.888  
c) 8.888  d) 8888.8 
 

Q.No. 43.  3×0.3×0.03×0.003×300 = ? 
a) 0.00243  b)  0.0243 

 c) 0.243  d)  2.430 
 
Q.No. 44. A sum of money when increased by its 7th part amounts to Rs.40. What is the sum(Rs)?

 7 .40 . ( .) ? 
a) 30  b) 25   
c) 36  d) 35 
 

Q.No. 45. A sells a bicycle to B at a profit of 30% and B sells it to C at a loss of 20%. If C pays Rs.520 for it, 
what was the cost price for A?
A  30%  B  B  20%  C . C .520 ; A 

? 
a) Rs.500 .  b) Rs.490 .  
c) Rs.505 .  d) Rs.480 .

 
Q.No. 46. An article is marked for a sale at Rs.275. The shopkeeper allows a discount of 5% on the marked 

price. His net profit is 4.5%. What was the cost price for the shopkeeper?
.275 .  5% 

4.5% . ? 
a) Rs.200   b) Rs.225   
c) Rs.250   d) None/ .

 
Q.No. 47. A certain sum of money amounts to Rs.756 in 2 years and to Rs.873 in 3.5 years. Find the rate of 

interest.
 2 .756  3.5 .873 . . 

a)  11%  b) 13%  
c)  12%  d) 12.5% 
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Q.No. 48. Two trains are moving in the same direction at 50 KM per hour and 30 KM per hour. The faster 

train crosses a man in the slower train in 18 seconds. What is the length of the faster train?
 50 . ./  30 . ./ .

 18 . ? 
a)  150 meter/ .  b) 125 meter/ .  
c)  100 meter/ .  d) 200 meter/ .

 
Q.No. 49. Find the surface area of slab of stone measuring 4 meters in length, 2 meters in width and ¼ meter 

in thickness.  
 4 ,  2 ¼ . 

a) 18 sq. m/ . .  b) 20 sq.m/ . .  
c) 21 sq. m/ . .  d) 19 sq.m/ . .

 
Q.No. 50. A garrison of 1000 men is provisioned for 70 days; if after 20 days garrison is reinforced by 200 

men, how long will the remaining provision last, in full days?
 1000  70 ;  20  200 

? 
a) 41 days/   b)  39 days/   
c) 42 days/   d) 40 days/  
 

Q.No. 51. The name of Shobhana Narayan is associated with which classic dance?
? 

a) Kathak/   b)  Kuchipudi/
 c) Odissi/   d)  Bharatnatyam/ . 
 
Q.No. 52. Who is Controller and Auditor General of India:

? 
a) Rajiv Mehrishi/   b)  S.K. Sharma/ . .   
c) YV Redddy/ . .    d)  KK Rai/ . . .

 
Q.No. 53. Imran Khan, who won the maximum number of seats in recent Pakistan General election, belongs 

which party?
, , ? 

a) PPP/   b)  PML(N)/ ( )  
c)  PTI/   d)  AAT/

 
Q.No. 54. Sarhul, nature worshipping festival, is largely celebrated in which state?

? 
a) Assam/ b) M.P./ .

c) Jharkhand/   d)  Chhattishgarh/

 
Q.No. 55. Dada SahebFalke award is given in which field?

? 
a) Film/  b)  Literature/   
c)  Sports/  d)  Science & Technology/ -
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Q.No. 56. Mission Indradhanush of Govt. of India is a programme of :

: 
a) Immunisation of children/  b) Hospital cleanliness/  
c) Swachchh Bharat/  d). Poverty elimination/ .  
 

Q.No. 57. Who is the Vice President of NITI Aayog?
? 

a) Amitabh Kant/  b)  Rajiv Kumar/   
c)  N. Seetaraman/ .    d)  A. Pangarhiya/ .

 
Q.No. 58. Uri Hydroelectric Power Station is in which State?

? 
a) Assam/  b)  Arunachal Pradesh/

c) Jammu-Kashmir/ -    d)  H.P./ .

 
Q.No. 59. Thirukkural is a holy book written by whom? ? 

a) ElangoAdigal/  b) Thiruvalluvar/

c) Bharathidasan/  d) Subramaniyam Bharati/ .

 
Q.No. 60. Directive Principles of State Policy is given in which chapter  of the Constitution of India?

?  
a) Chapter/ -III b)  Chapter/ -V  
c) Chapter/ -II  d) Chapter/ -IV 
 

Q.No. 61. Which country has recently withdrawn itself from UNESCO?
? 

a) UK/ . . b) USA/   
c) Russia/  d) Pakistan/

 
Q.No. 62. India and Iran co-built which port in Iran?

?

a) Gwadar/  b) CPEC/   
c) Chabahar/  d) Hambantota/

 
Q.No. 63. Select the odd word/letters/number/number pair from the given alternatives. 

  
(a) Armchair/     (b)  Sofa/  
(c) Table/      (d)  Paperweight/
 

Q.No. 64. The river Ganges crosses how many states? ? 
a) 4 b) 5   
c) 6 d) 7 

  


